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QUESTION 1

If traffic requires preferential treatment by other routers on the network, in addition to the QoS module, which Check
Point QoS feature should be used? 

A. Guarantees 

B. Differentiated Services 

C. Weighted Fair Queuing 

D. Low Latency Queuing 

Correct Answer: B 

 

QUESTION 2

Which technology is responsible for assembling packet streams and passing ordered data to the protocol parsers in
IPS? 

A. Pattern Matcher 

B. Content Management Infrastructure 

C. Accelerated INSPECT 

D. Packet Streaming Layer 

Correct Answer: D 

 

QUESTION 3

Robert has configured a Common Internet File System (CIFS) resource to allow access to the public partition of his
company\\'s file server, on \\erisco\goldenapple\files\public. Robert receives reports that users are unable to access the
shared partition, unless they use the file server\\'s IP address. 

Which of the following is a possible cause? 

A. Mapped shares do not allow administrative locks. 

B. The CIFS resource is not configured to use Windows name resolution 

C. Access violations are not logged. 

D. Remote registry access is blocked. 

E. Null CIFS sessions are blocked. 

Correct Answer: B 
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QUESTION 4

What is NOT a valid LDAP use in Check PointSmart Directory? 

A. Retrieve gateway CRL\\'s 

B. External users management 

C. Enforce user access to internal resources 

D. Provide user authentication information for the Security Management Server 

Correct Answer: C 

 

QUESTION 5

You are preparing computers for a new ClusterXL deployment. For your cluster, you plan to use three machines with the
following configurations: 

Are these machines correctly configured for a ClusterXL deployment? 

A. No, the Security Gateway cannot be installed on the Security Management Server. 

B. No, the Security Management Server is not running the same operating system as the cluster members. 

C. Yes, these machines are configured correctly for a ClusterXL deployment. 

D. No, Cluster Member 3 does not have the required memory. 

Correct Answer: A 
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